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ENGLISH VERSION

1 Explain the following terms : (any four) 20
Null and Alternative Hypothesis
Type-I and Type-II Error
One tailed and two tailed test.
Degree of freedom
Level of significance.
OR
From the following data, test the hypothesis that 10
population mean is 30.5 :
Class : | 16-20 21-25 26-30 [ 31-35 | 36-40
f: 12 22 20 30 16
Test the hypothesis that population means are equal: 5
Sam. Mean S.D. Size
A 61 2 64
B 60 4 100
Test the hypothesis that population S.D. are equal : 5
Sam. Mean S.D. Size
A 81 12 81
B 83 10 121
Difference between 5
Large sample test and small sample test.
From the following data, test the hypothesis that 15
there 1s no significant difference between 2 sample
means at 5% level of significance :
A 28 31 26 27 23 38 31
B : 37 42 34 37 35 - -
OR
Write short note on ‘t’ test. 5
Test the hypothesis that population variance 15
are equal :
X, ;[ 18 | 20 36 | 50| 49| 36 | 34| 49 | 41
X,:[ 29 | 28| 26 | 35| 30| 44 | 46
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3 (a) Write the properties and uses of Chi-square. 5
(b) Test the hypothesis that the demand of books do 10
not depend on days of the week :
Day Mon. | Tue. | Wed. | Thu. | Fri. Sat.
Demand 124 125 110 120 126 115
OR
3 2X2 contingency table 15
20 | x 2
< 120 if X Cal = 20/3, find the value of x.
4 (a) Explain ANOVA table. 5
(b) Perform 2-way ANOVA table. 10
3 4 6 6
6 4 5 3
6 6 4 7
OR
4  Analyze the following L.S.D. completely : 15
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